WORKSHEET (19/11/2021)

Review
L. Fill in the blanks with correct numbers
60543 has ... hundreds. 80464 has ... ones.
27005 has ... thousands. i LT G T ———
6789 = ..o thousands + ..o hundreds + e t€NS + . ONES
30321 = ... R ten thousands + .................. hundreds + ... t€NS + one

I1. Choose the properties of the following operations

commutative / associative / distributive
0.9x(2+35)=9x2+9x%x5 e Mistributive .
L{Ex5)x3=3x0x%x3)
2. 150 +230=230+150
3.920+310=310+920
4.(120+115)+85=120+ (115 + 85)
5012x(6+4)=12x6+12x4 :
II1. Choose the Simple Past form of the verhs in hrackets
0. When I was (be) a little girl, I didn’t drink (not drink) a lot of milk.
1. Mr. Parker .........cccocoocvcenin. (CcOme) back home an hour ago.
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3.We e (not build) our house by ourselves last year.

4. Nick and Terry .........c....ccccoccoocoooooeconcere. (drive) to Southampton last weekend.

5. What ... s e (YOUT UM, c00K) for dinner yesterday evening?

IV. Read and chnose the correct answers about expressions

0. An unknown (a) multiplied by 20: ax20

1. An unknown (b) plus 150:
2:300plosan ORI = =00 0000090 s e

3. Subtract an unknown (g) from 70:

4. Subtract 250 from an unknown (q):

5. An unknown (y) multiplied by 10:
V. Solve the problem

James went on a four-day dolphin watching trip. He saw 250 dolphins on the first day, 350
dolphins on the second day, 1000 dolphins on the third day and 500 dolphins on the last day.
What is the average number of dolphins he saw per day?

Answer: The average number of dolphins he saw per day is:
(250 + 350+ . T500) 14 = . (dOlphins)
Hesaw ... dolphinsper day.

V1. Calculate quickly using the properties of operations

0.886 x 20 x 5=886 x (20 x 5) = 886 x 100 = 88600

1755+ 422 4518 =S FBZH cvsumnnumenicn iR

2,440 209440 X 80 = 440 X 20 ncsmmsmanis: ) i s

3o X ION L =FRN s BRI acisieiiiaimi s
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